Secondary III






Name: ______________________

Unit 5 Review

Find the following information and graph each rational function: 
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Domain:

Range:
x- int:

y-int:

Vertical Asymptote:

Horizontal End Behavior:
End Behavior:

Asymptote Behavior:
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f (x) = (x − 2)(x + 3)
(x +1)(x − 3)
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Domain:

Range:
x- int:

y-int:

Vertical Asymptote:

Horizontal End Behavior:
End Behavior:

Asymptote Behavior:
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f (x) = 2x − 6
x −1
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Domain:

Range:
x- int:

y-int:

Vertical Asymptote:

Horizontal End Behavior:
End Behavior:

Asymptote Behavior
Graph the following from the transformations
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f (x) = 1
x + 4
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f (x) = − 1
x − 2
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− 3










f

(

x

)

=

1

x

-

3






7.  
[image: image7.emf]


f (x) = − 1
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+ 2
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Given the following functions, find all holes, asymptotes, and intercepts.
8. 
[image: image8.emf]


f x( ) = x − 3
(x +1)(x + 5)
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f x( ) = x + 2( )(x − 2)
x +1( )
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Holes:


x-int:



Holes:


x-int:
VA:


y-int:



VA:


y-int:
HA:






HA:
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f (x) =
x + 4( ) x −5( )
x −5( ) x +1( )
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f (x) = x −1
x + 4
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Describe the transformations of g(x) from 
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g x( ) = 1
x + 2
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x
+ 5
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g x( ) = 3x +1x − 2
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g(x) = x + 2
x −1
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16.  If the degree is the same in the numerator and denominator, the asymptote will be_________.

17.  If the degree in the denominator is larger than the numerator, they asymptote will be _____________.

18. If the degree in the numerator is larger than the degree in the numerator, the asymptote will be__________________.
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